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PART I- SHORT ANSWER QUESTION

Cost and demand conditions
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a) Refer to Figure 3. What kind of industry does this firm belong to? (4 points) Why? (4 pomts)\ /b)
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b) Refer to Flgure 3. Write the prof' t maximizing condition for the firm in graph (4 points)
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c) Referto Figure 3. What is the profit maximizing quantuty" @Tpomts) | s/
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d) Refer to Figure 3. What is Total Revenue when profit is maximized? (4 points)

TheOxa =40245= 180

e) Refer to Figure 3. What 1s the value of A'{{C when profit is mammized? (4 points)
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f) Refer to Figure 3. What is the value of TC when profit is maximized? (4 points)
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g) Refer to Figure 3. What is the value of maximum profit? (4 points)
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h) Refer to Figure 3. What is the value of AFC when quantity is 16? (4 points)

AFc=ATC-AVc=1%. »q X Y

1) Refer to Figure 3. What 1s TFC? (4 points)

TF(:—AFQV;] = N Bt R 2 N6 >/

@gustkwt - mygust.com




PART II- MULTIPLE CHOICE QUESTIONS (Each question is worth 2 oints

Write the answers of Part 11 to the table below.

Only the table will be graded. Please write either A or B or C or D as the answer.
[t you think that the correct answer does not exist, write E as the answer.

1) All the decisions made by people who operate firms have one overriding objective, which 1s to

A) maximize the quantity that the firm sells B) maximize the firm's total revenue
ake maximum attainable profit D) maximize the firm's market share

2) The short run is a period of time in which

AE the amount of output is fixed.

e quantity of at least one factor of production is fixed.
C) prices and wages are fixed.

D) nothing the firm does can be altered.
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3) Refer to Figure 1. After hiring which worker, marginal cost of car washing service will start to increase?
7™\
A)/ S
B} O
£} 1
D) 1

4) The marginal product of labor 1s equal to the?/ '

A) total product divided by the total number of workers hired.

B) slope of the marginal product of labor curve. . | i _
C) inc}:*ease in the total product that results from hiring one more worker with all other inputs remaining the same.
éS)N one of the above answers are correct.
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Labor (workers) Total product (units) |  Marginal product Average product
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measures. The total product that can be produced with 6 units of labor i1s
Af ﬁore information is needed to answer the question.

C) 20.
D) None of the above answers is correct.

6) T'he above (incomplete) table provides information about the relationships between labor and various product

measures. The average product of the fourth unit of labor

A) is less than the marginal product of the fourth unit of labor.
@ equal to 4.0.

C) is equal to the marginal product of the fourth unit of labor.
D) exceeds the marginal product of the fourth unit of labor.

7) Increasing marginal returns to labor might occur at low levels of labor input because of
A) differing factor proportions.
B) decreasing use of machinery and increasing use of technology.

C) increasing average costs.
increasing specialization of tasks.
>\/
8) At that amount of output where diminishing marginal returns first sets in,

A) marginal product will begin to decline. B) average product will begin to decline.
C) total product will begin to decline. Il of the above

Total Prosucy

Labor (workers per day) Quantity (T shirts per day)
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9) The table above shows some data that describe Tom's T-Shirts’ total product when Tom has 1 sewing machine. An

increase in the number of workers from 1 to 2 a day increases average product of labor from ’f () T shirts per worker
and marginal product of labor is ___ T shirts per worker. S

A) 10 to 22; 22 B) 10 to 11; 22 C)10to11; 12 D) 10 to 22; 12 >\

10) The table above shows some data that describe Tom's T-Shirts’ total product when Tom's has 1 sewing machine.
Diminishing marginal retugns begin after the _ ____i1semployed.

A) fourth worker @écond worker C) third worker D) tifth worker
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1) When the marginal product of labor is greater than the average product of labor, the
@ average product of labor must be increasing as labor increases.
B) marginal product of labor must be Increasing as labor increases.

C) total product must be Increasing at an Increasing rate as labor increases.
D) None of the above answers is correct.

12) "Diminishing marginal returns” refer to a situation in which the /

A) marginal product of the next worker hired is less than the marginal product of the previous worker hired.
B) marginal cost of the next worker hired is less than the marginal cost of the previous worker hired.
@verage product of the next worker hired is less than the average product of the previous worker hired.

) average cost of the next worker hired is less than the average cost of the previous worker hired.

13) A firm's total fixed cost (TFC) is a cost
A) that is dependent on marginal cost.
3hat does not change as output changes.

t1s certain ("fixed") that the firm must pay.
D) that is paid in only the long run.

X\

A) The Social Security tax the store pays the federal government on the workers' income.
B) The cost of the boxes of cereal sold in the store.

@T he rent from the six-year lease for the building the store uses.
D) The salary and any overtime paid the store's manager.

as output increases because

153 Average total cost minus average variable cost as output increases.

decreases; average fixed cost decreases
B) decreases; marginal returns diminish

C) decreases and then increases; marginal cost initially decreases and then increases
D) decreases; economies of scale are present

16) As output increases, AVC approaches ATC because of )(

A) diminishing marginal returns. %)Qecreasing average fixed cost.
@ncreasing marginal cost. ) diseconomies of scale.
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17) The above (incomplete) table provides information about the relationships between output and various cost measures.
The total fixed cost (TFC) for the firm is

A) zero. B) $10.
) $20. D) None of the above answers is correct.
18) The above (incomplete) table provides information about the relationships between output and various cost measures.

The total cost (TC) of producing 9 units of output is
A) $190. B) $200.

P\ = ’\80
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@ 89) D) None of the above ANSWers 1s correct

19) The above (;
Vv - : |
¢ (iIncomplete) table provides information about the relationships between output and various cost measures.

The marginal cost ' .
per unit when increas;i <
A) $30. B) $380. ng output from 14 to 20 units is

C) $2. @15
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20) In the above figure, the relationship between costs indicates that the distance between curves
(A) A and B is equal to the fixed cost. B) 4 and B is equal to the variable cost.
C) B and C is equal to the fixed cost. D) B and C is equal to the average total cost.

21) In the above figure, the total fixed cost curve is curve
A)A. B)B.
E) 2’ D) none of the curves in the figure

b

22) In the above figure, the total cost curve is curve
yA. B)B.
 C. D) none of the curves in the figure

23) In the above figure, the total variable cost curve is curve

A) A. Q}B.
L. ) none of the curves in the figure

24) In perfect competition,
A) only firms know their competitors’ prices

B) there are restrictions on entry into the market
é)‘lere are many firms that sell identical products

D) firms in the market have advantages over firms that plan to enter the market

SCENARIO 1: Upon graduating with an accounting degree, you open your own accounting firm of which you are the sole
employee. To start the firm you withdrew your money of 200000 from the bank which was paying you 10% interest rate.
Last year you earned a total revenue of $100,000. Rent and supplies last year were $50,000.
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._D) Rt fer to bkt‘nf]rlo ¥ \ Our dnnUﬂl ecConomicC costs are
A) 0.

B) $60,000.
) 1$70,000.
$110.000.

26) Refer to Scenario 1. Your annu
A) $0.

@7‘ $50,000.
C) $60,000.
D) $110.000.

al accounting profit is

C) $50,000.

Table 4

28) Refer to Table 4 above. Which technology is the most capital intensive?
A) A B) B 3L

A) A B) B

30) A negative economic profit
A) means land would be better used elsewhere.
B) means the resources would have a higher value in another use.

C) means labor would be better used elsewhere.
D) means capital would be better used elsewhere.

BONUS: (4 POINTS) —) next+ page
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Are the curves in the figure above drawn correctly? If not, what's wrong?

218 Conle e g
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